
EX p = 3, n = 4 p = 2, n = 4

β(4) β(3,1) β(2,2) β(2,12)

χ(4) 1

χ(3,1) 1

χ(2,2) 1 1

χ(2,12) 1

χ(14) 1

β(4) β(3,1)

χ(4) 1

χ(3,1) 1 1

χ(2,2) 1

χ(2,12) 1 1

χ(14) 1



EX p = 2, n = 4 p = 2, n = 6

β(4) β(3,1)

χ(4) 1

χ(3,1) 1 1

χ(2,2) 1

χ(2,12) 1 1

χ(14) 1

β(6) β(5,1) β(4,2) β(3,2,1)

χ(6) 1

χ(5,1) 1 1

χ(4,2) 1 1 1

χ(4,12) 2 1 1

χ(3,3) 1 1

χ(3,2,1) 1

χ(3,13) 2 1 1

χ(23) 1 1 1

χ(22,12) 1 1

χ(14) 1
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Abacus representation

p = 2, weight w = 2, n = 5.

core = (1) λ = (5) λ = (3,2) λ = (3,12) λ = (22,1) λ = (15)
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EX p = 2, w = 2.
Move 2 beads to the right = swap runners.

Core κ1 = (1), n1 = 5 Core κ2 = (2,1), n2 = 7

κ1 = (1) λ = (5) λ = (3,2) λ = (3,12) λ = (22,1) λ = (15)
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κ2 = (2,1) λ = (6,1) λ = (4,3) λ = (4,13) λ = (23,1) λ = (2,15)
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EX p = 2, w = 2. Partitions in order.

Move 1 bead to the right 6= swapping runners.

Core κ1 = ∅, n1 = 4. core κ2 = (1), n2 = 5.

κ1 = ∅ λ = (4) λ = (3,1) λ = (22) λ = (2,12) λ = (14)
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κ2 = (1) λ = (5) λ = (3,2) λ = (3,12) λ = (22,1) λ = (15)
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